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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.

UeA-gRIST ety T ST s A ¥ wdemdf s forme
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one language (i.e.,
either Hindi or English)

0 ARIA/UR & & HAET & AT Uh H IRy 3R amr
& 3 ufa uea ¥

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Th “ddbfoud” TSR @ & odd $ol 376 40 & AT
T &, IS ThR & & 3R 58 ol 3iF 60 §l

PART ONE is Objective type and carries 40 Marks. PART
TWO is Subjective type and carries 60 Marks.

AT UF & 3, 36 UA-UT & Y & TS HANR ZR-
gfeasr W, 389 @A T srgeet & e & RF I= g
AT ) H S-GRTH F HET TH F IR A A A
=ifevl

PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the question paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.

T TF & fov Afead g @i e gver fAuiRa &
TS EI AT &Y H SA-GRAD!, HET Teh I SeR-gRaedr Tl
T & T & el guify, Aiia vF 8¢ ¥ uwer ST
Uh QU R el glemedf T ue f seR-gieaer Adets
' o F I G, T & B STR-RADT & Fhe

Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the answer sheet for PART ONE is returned.
However, candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the answer sheet for PART
ONE.

giemeff, uRufa-uRe w R e fer sk sweh
SR-gRAw, e & AT e, olen g@d /e A8
OIE Hhd Bl W A WA W, TQawAT B 3H AlIA /
IR 3 3T 9T X fgar s

Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing
over his/her Answer sheet to the invigilator. Failing
in doing so, will amount to disqualification of
candidate in this Module/Paper.

URA-gREHT B W d Ay Few & uuig wd 3
forgar 3RE A @ Uedl 3EficaR I Sitg @) gt
R & 5 meA-gfias uds = & dqot ¥

After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate
should ensure that the Question booklet is complete in all
respect.

dle: Afg Rl amor 7 #15 IR/ Raafa o el €, @ 38 e 7 sh dwwor & A gem |

Note: In case of any discrepancy found in Hindi version, English version will be treated as final.

STdl T I el o SV, dd deb YEA-giEdehl o Tlel|
DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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$9T U / PART ONE 1.2 I T deh TgH & FT H STT
@Y w4t & 39T S / Answer all the questions) ST E |
(A) 200.200.1.1
(B) 10.10.1.1
1. 1 UAd U & 3 & Fs [dhed (C) 224.1.1.1
few arw &1 v wId 3ugE e g (D) 127.0.0.1
3R A UeT-UT F AT SUAT WA is known as loop back
) ) address.
T HCANR ST A, 3HA o (A) 200.200.1.1
Wﬁé‘\’ﬂ'ﬂsm, gt | (B) 10.10.1.1
Each question below gives a (€) 224111
multiple choice of answers. (D) 127.0.0.1
Choose the most appropriate
one and enter in the “OMR” 1.3 mﬁwwm% |
answer sheet supplied with the _ -
question paper, following (A)  LiBoot
instructions therein. (1x10=10) (B) GRUB
(C) LIGR
(D) NTLDR
1.1 U farsy & e g a is a bootstrap program in
et Seadh P g & forw e St Windows.
o (A) LiBoot
(B) GRUB
A) e (C) LIGR
(D) NTLDR
(B) dred
o frm 1.4 TSH 192.168.128.0/22 & ATY 3TN
© ATy e Hr qEAr
(D) 3WIH Pl Al (A) 10
R ®) 100
is a device which is
used to connect two different (€) 1000
networks. (D) 1022
Number of usable Host with address
(A) Repeater 192.168.128.0/22
(B) Gateway @) 10
(B) 100
(C) Bridge (C) 1000
(D) None of the above (D) 1022
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1.5

1.6

1.7

HCTH UTd A & oI $Wae
afrm gaeTaRar g |

(A) CSMA/CD
(B) CSMA/CA
(C) CSMA/AC
(D) CSMA/DC

Ethernet uses
access medium.

(A) CSMA/CD
(B) CSMA/CA
(C) CSMA/AC
(D) CSMA/DC

method to

erarerish agd eIl § |
A) ¥R
® @

(C) Yool AA
(D) SIAT TH
topology  is highly
expensive.
(A) Star
(B) Tree
(C) Fully Mesh
(D) Common Bus

OS] AlsT H R T &
el

A IR
(B) U=
() ¥
(D) w1

OSI model consists of
number of layers.

(A) four
B) five
(C) six
(D) seven

e

1.8

1.9

1.10

_ AAF AT |
(A) & (Cache)

(B) UAgEa
(C) HDD
(D) EPROM

memory 1s faster than
RAM.

(A) Cache

(B) Pen Drive
(C) HDD

(D) EPROM

P G Bl 3R BleaT Pl
HFYH PA &b TorT TFATSATAT & |
(A forfesa
B) fafesa
(C) RER
D) HA
1s used to compress files and
folders.
(A) LinZip
(B) WinZip
(C) RER
(D) COMPRESS

&Sl BT JAIT SERCIT BhI &
TRl o & fow R ST @ |

A)  Alt+ e &

(B) Enter+ ftic &

(C) F1+ fic &

(D) ficsha

key 1is wused to take
snapshot of desktop screen.

(A) Alt+ Print Screen
(B) Enter+ Print Screen
(C) F1+ Print Screen
(D) Print Screen
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

T e aram wedeh faavor a1 ot 9Er
3T ITelcl | Teh N 3UGh [aeheq el
3R 3T URF-UT F Y I
T fAGRM & IFAR, ST B (1x10=10)

MBR @ g uréierd & &9 & ST ST
el

HIATEI Z13d 32T Y &S f3ed grga &
gﬂ:mml

#F PCI Tdlc 3Uee¥ § |

WS 3Hited hadl [AFT ardm wema
P HHA PATE |
Th HAT § |

I 3R e g9 & weed oy

IRET AT A AT E |

oS 3T fr ke ssa &
e i e ot |

ARRY dedd Hbdl & JTRT & forw
I aen T SuAT FIAT R |

NFS fiorer 3T Reea & o
Frsol AT Uelpia & |

2.10 ag MAC tgd & YR W At oa

e

Each statement below is either TRUE
or FALSE. Choose the most
appropriate one and enter your
choice in the “OMR” answer sheet
supplied with the question paper,

following instructions therein.

(1x10=10)

2.1 MBR is known as boot partition.

2.2 Formatting drive will rearrange
data in hard disk drive.

2.3 PCI slot is available in computer to

install graphics card.

2.4 Fibre optic cable reduces cross talk

effect.

2.5 Central Point of failure is

disadvantage of star topology.

2.6 Steps of creation of User and
Groups are similar in Linux

operating system.

2.7 Defragmentation of Hard Disk will

erase content of drive.

2.8 Wireless Network uses radio waves

to transmit signals.

2.9 NFS is a file sharing protocol in

Windows operating system.

2.10 Switches take decision based on
MAC Address.
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3. oidH X H ou 91w ereei 31X aret o1 A died Y F U 9w Apeda geeafaa 31 /
QIeal /TRt ¥ | 37U faehed UA-UT & A U 3T “INTHIN” 3TR-UF6H A, 3TH 6T

91T 37IERIT T UTeleT el BT, Gof | (1x10=10)
X Y
3.1 | fpfoma usa HET b CIdTeliol
3.2 | BIScl & HBR Bl Tl OSI
3.3 IR & foT TS hua wddY EEPROM
3.4 | wifrma vdw ROM
3.5 qraT A9 TERA IP 38
3.6 e &1 T TR PITC shided eIararal
3.7 Selele Ut T & Ping &S
3.8 | Ay AurerS pkzip
3.9 SrRaAlICIcl) ISP
3.10 | Jcad & AT & forw FAS Ipconfig HATS
MAC TH
CERE
ISO
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3. Match words and phrases in column X with the closest related meaning/
word(s)/phrase(s) in column Y. Enter your selection in the “OMR” answer
sheet supplied with the question paper, following instructions

therein. (1x10=10)
X Y
3.1 Physical Address A Collision Free Topology
3.2 Reduction of File Size B OSI
3.3 Standard Creation Committee for C EEPROM
Communication
3.4 Logical Address D ROM
3.5 Programmable Storage E IP address
3.6 A Type of Printer F Cost Effective Topology
3.7 Provides Internet G Ping command
3.8 Mesh Topology H pkzip
3.9 BUS Topology I ISP
3.10 | Command to test Network J Ipconfig command
K MAC address
L Laserjet
M ISO
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4. R YA areg A A & 75 G W T e AT i o & o R v ¥ @9d
3Ugeh fahed Yo 3R 3@ TRA-UF & T feT T “HTAINR” S/-uFh H, 37 feu 7w

FHFSRIT & FFA, & A | (1x10=10)
A. HroRfear e B. | &afte C. |afée

D. |g¥ E. |UDP F. |& oaa

G. |smaeRieamsd |H | oS dga L tpe

J. ROM BIOS K. | fgaed R L. |HDD

M. 3 Fella31q

4.1 DLL UerReer=l &7 quT & &

42 _ UH hARIFAH WD § |

43 feafFer #, 3er 3iavor @ qd 3fdhes uyr wu1fid fomam Srern & |

4.4 _ drdr o Aifae srer & A RiveH A TSdIR garael & $h @At | |

45 fACE IS ERS_ A YA UTH B ST b § |

46 U gfferdy & S ¥R g arell €S 315d & HATIId WISl P gerdl & |
47w gRfcd uiamd & St HDD & 3AHTS BIsdl Sollerd &l @ief didl & |
48 ___ HDD #H UF FI5d & TATA dT Ugdld HAT & |

49 _ 3UAThAl 3R TSI & ST U ST & T H I AT § |

410 __ GIATET HDD & Higel fAECH &l §od: Bidc HdT © |
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4. Each statement below has a blank space to fit one of the word(s) or

phrase(s) in the list below. Choose the most appropriate option, enter your

choice in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10=10)

A. Operating System B. Scan Disk C. Circuit

D. Path E. UDP F. Low Level

G. Dynamic link library H. High Level I. Packet

dJ. ROM BIOS K. Recycle Bin L. HDD

M. Disk Cleanup

4.1 The DLL extension stands for

4.2 1s a connectionless protocol.

4.3 In switching, dedicated path is established before data is
transferred.

4.4 is a physical part of PC that keeps track of the hardware resources on
the system.

4.5 Deleted files can be retrieved from

4.6 1s a utility that removes unnecessary files from a slow running hard
drive.

4.7 is a utility program which searches for unmapped file blocks of
HDD.

4.8 identifies a file’s location in the HDD.

4.9 acts as an interface between user and hardware.

4.10 formatting reformats file system of HDD.
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AT ST / PART TWO

(et IR ueaAt & 37X & /Answer any

(b)

(a)

(b)

(b)

()

(b)

FOUR Questions)

Il | HTYEI & QLG B SAsd
A 1 GI&T qaiary & e
T 2

TCP/IP UIeIphidl & & Ucddh
R A BRATCHADBAT & aR H
ford |

List down various components
of computer. What safety
precautions must be taken

while assembling parts of
computer ?

Write down the functionalities
of each layer of TCP/IP
protocol suite.

(7+8=15)

&X-aRT T afRar o

PISAl Bl HFUH Pt b U & T
YROT & ? BIgell 3R BlesIt Al
HFIH A b T WinZip &
a1 fafRrea € 2

Write down step-by-step

booting procedure of Linux
operating system.

What is concept behind
compressing files ? What are
the features of WinZip to
compress files and folders ?

(7+8=15)

(a)

(b)

(©

(a)

(b)

(©

()

(b)

(©

()

(b)

(©

PATE ?

fagier e Reea & da-311
& forar Jrar § AR wrEat 3R
Blesdl &l ha Ge: TS foar
AT ® ?

faeier e Reea & 3ms o
T3 P P FHiewirR fhaAT Srar
g

How does impact
prints document ?

printer

How to take back-up and
restore files and folders in
Windows operating system ?

How can be IP address
configured in Windows
operations system ?

(5+5+5=15)

TR & fAFuaed, g% AR oo

SCAFH HIS Y cTEAT & |

s Bram & Snheeied @r
© 23ab FAT A E ?

i IRfET s #
Feoy ford |

Explain Simplex, Half and
Full duplex mode of
communication.

What is Defragmentation of
Hard Disks ? What are the
advantages of it ?

Write down steps of
installation of Microsoft Office
in Windows operating system.

(5+5+5=15)
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9. farafaf@a # @ fpdl e ox fecaoh
forg
(a) TEARA
(b) BIOS ¥e3U
(c) acafdher eararsh
(@ = 3vE J wea iR fex
T AT

Write notes on any three of the
following:
(a) Antivirus
(b) BIOS setup
(¢) Networking Topologies
(d) File and Printer sharing in
Windows OS
(3x5=15)
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